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Note: () You must write the .mf?jc‘cl-cmlt‘//mhcr-mde 042/A in the b“"% '3 rovided on the tie
page of your answer-book.
are properly serialed as soon as you receive i.

(i) Question/s attempted after leaving blank page/s in the answer-book would not b,
evaluated,

(%) In Part-1, questions No. I to 4 are all compulsory questions. Each question contain;
two marks. Answer each in 2-3 sentences.

(V) Part-1, contains, six questions, number 5 to 10. Answer any four out of these six
questions. Each question carries four marks. Answer to each question should not
exceed 7 to 8 sentences. ‘

(vi) Part-111, question No. 11 is a source-based question of four marks. This is compulsory
question. =

(vii) Part-IV, question number 12 is question with internal choice. Answer any one of these
two given questions. Each question carries six marks. Answer this question in 12 10
15 sentences.
(viii) Question No. 13 deals with map identification and labeling. Mark at least three out of
the six places in each section. Each carry three marks. ‘
"Part-1 4x2=s
1. Describe the characteristics of agro-based and forest-based industries. 2
2.  Write a brief note on the types of railway guages. 3
3.  What doyou mean by Oro politics ? 2
4. What are the isopleth maps ? 2
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4

- \ ‘/ .
5. Manganese is usced for what purpose ? Write the three largest producers of manganc

6. Describe the problems faced by Sugar Industry in India. What is the current state of Sugar

Industry in Punjab ? i

7. What are the quaternary and quinary occupations in the field of economics and what is their
significance ? | 4
8.  What are the means of mass communication ? Write the names of two most important means of

mass communication at present. 4

9.  Write the names of sources of land pollution. How does it affect agriculture and health? 4
10. How many national waterways are there in India ? Write the names of any four national waterways.
4

Part-111

11. Read the following paragraph and answer the questions at the end : 4

Geography of Superlatives is a descriptive branch and tends to narrate all tangible and

intangible resources and endowments empowering our planet earth or a continent, nation or a
-~ \

region and a clan .o'r a group.{The global phenomena and patterns are studied, uniqueness is
adjudged and annals are scanned and sodcd to see the superlatives/There are endless superlatives
and records made by India aﬁd a chest thu;nping is peeded. Why there isancedto sing paéans of ]
our natural entitlements and human strengths a'nd numerical superiorities ¥ Media exposes

miseries, tens of civic societics and NGOs c;rz;\v a gory picture of exhaustible resources,

deterioration of ecosystem and deplorable state vicious cycles we are trapped into. Let us change
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our view point. A childof tender ages has always been apprised of whatave lack and where we are

wrong. He is often told about the weaknesses and is hit by threats and weaknesses. Limitations,
inadequacies and delimitations bother him. He loses his interest, life for being appr ehended by

possible dangers and shortcomings.
(i) What are geographical Superlatives ?
(ii) What is the purpose of geographical Superlatives ?
(iii) What kind of presentation does the Indian media rhostly do?
2ol i T - 1athn '
(iv) - What are the potential dangers to life and society ? -

Part-1V

12. Write detailed notes on major oil and gas pipelines in India. : 6

or

Compare the western and eastern regions in the distribution of the Indian cotton textile industry.

6
: I
13. (2) Show any three of the following six places on the political map of India : 3
(i) Salem iron and steel industry
(ii) Haldia Oil Refinery
(iii) SouthernRailway Headquarter
(iv) Visakhapatnam Port r

(v) Aksai-Chin

(vi) Gulf of Khambhat

042/A(T-2)-SS !



g meapem—r——

(1)
(b) Identify anythree of the points shown on the map of India: 3
(i) Coal production strip . : | o
(i1) National Waterway
(iii) Major gas and oil pipelines
(iv) Major ports
(v) Aroyaltrain running in R,ajasthan’ A'

(vi) Famous place of Pharmaceut‘icalAIm_iuSt:ry in Andhra Pradesh
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